RMF series Rotary Table

Product features CHELIC.
Q Internal structure
Q© Specification
Item Model (mm) RMF10 | RMFI5 | RMF20 | RMF30 | RMF40 | RMFS50
Action Double acting
Fluid Air
Torque force N-m 0.14 ‘ 0.38 ‘ 0.78 ‘ 1.8 ‘ 3.8 ‘ 5
Rotation angle 90° 180°
Port size M5x0.8P ‘ 1/8
Pressure range Kgflem? (kPa) | 2~7(200~700) ‘ 1.5~7 (150 ~700)
Ambient and fluid temperature ¢ 5~ 60
Allowable kinetic energy J 0.005 0.013 0.032 0.056 0.1 0.2
© Rotation angle Angle agi
range 19> Ment
g \
g

§ B port

S

20

o 9

<8 @’/

180°

=
-

Angle adi
q
range 10¢

Ustment

*
&9

A port

Q Code of order

- e

CRWETD (oD < () - ey
l |
l Model ‘ l Torque force ‘ lRotation angle‘ l Sensor bracket ‘ l Sensor switch ‘
l l l l
10:0.14 N-m 90 - 90°
15:0.38 N:m . e
20:0.81 N+m 180 - 180 %
30:1.8 N-m
40:38 N-m Cs-8G SG|2
50:5 N-m None: Standard type None: Without sensor switch

RMF series
Rotary cylinder

6-12.26

[C]: Sensor bracket
[2]:1=1PCS 2=2PCS

[SG]: Sensor switch mark (CS-8G)
[2]:1=1PCS 2=2PCS



RMF series Rotary Table

Product features CHELIC.
© Internal structure
© Components and material list
No. Item Material No. Item Material No. Item Material
01 | Rotating plate Aluminum alloy | 08 | Bearing Bearing steel 15 | Sensor switch holder Aluminum alloy
02 | Hexagon socket screw | Alloy steel 09 | Connector Iron 16 | Rear cover Aluminum alloy
03 | Bearing cover Aluminum alloy | 10 | Hexagon socket screw | Alloy steel 17 | Sensor base Alloy
04 | Top cover Aluminum alloy | 11 | Rotary unit shaft Alloy steel 18 | Sensor base block Stainless steel
05 | Spacer block Alloy steel 12 | Hexagon socket screw | Alloy steel 19 | Base block spacer Stainless steel
06 | End cover Aluminum alloy | 13 | Magnet Rare earth material | 20 | Holder block Aluminum alloy
07 | Hexagon socket screw | Alloy steel 14 | Hexagon socket screw | Alloy steel 21 | Round head screw Alloy steel
© Effective output
¥ RMF 10 ¥ RMF 15 ¥ RMF 20 ¥ RMF 30 ¥ RMF 40 ¥ RMF 50
0.8 16
éo.z ;05 é*z 24 éA /// ée d
) // o 04 o 08 =i I ,/’/ o P o e
g0 5-02 L~ 504 g2 > 52 // g4 //
e rd 2 P e = e | LA e | e ||
0 01020304050607 0 01020304050607 0 01020304050607 0 02 04 06 08 1.0 0 02 04 06 08 10 0 02 04 06 08 1.0

Air pressure (MPa) Air pressure (MPa) Air pressure (MPa)

Air pressure (MPa)

Air pressure (MPa)

Air pressure (MPa)

C Allowable load

Loding way @ 1 ‘ (b)
-
== == ==)
aaﬁaa‘ eeﬁaa‘ eeMaa‘
) Vertical load(N)

Model Side load (N) @ (®) Allowable torque (N.m)
RMF10 20 8 13 0.3
RMF15 40 10 25 0.7
RMF20 50 25 50 0.9
RMF30 60 35 70 2.9
RMF40 70 45 90 7
RMF50 90 60 110 9.5

6-12.27

RTM

RMEF

RTB

RTBM

RTZB

RTP

RTH

RTU



RMF series Rotary Table

Dimensions CHELIC.
©C RMF 10
8-M3x0.5Px5dp 2-@4.5 Through hole
03
R\
N 5
/
ko H e}
i | 2-Mdx0.7Px8dp
| | ———
| 145 ‘
31
38
@36
@35
@17
4 w| © 12.1
*ﬂ« =| o - 3x5dp (Three sides)
N ——= —* | o
~ o™
: | | | | |
2] [T Tode
[t} N N [te) : YN
I R | 5= :
N DNH85 N 2 | A ‘ 2y
S (% é‘_" O :
\ 2-034.5 2-04.5 -
N —I f ‘ Through hole Through hole ‘w r
A n ] [1]
© 2-M3x0.5P TT
- Port connection L]
‘ | o4 3x3dp (Three sides)
a9 ‘ 27 ‘
27
@30
336

2-M4x0.7Px8dp

6-12.28



RMF series Rotary Table

Dimensions

CHELIC.

©C RMF 15

8-M4x0.7Px7dp

2-@4.5 Through hole

2-M4x0.7Px8dp

44

@42

a41

a21

1

——— = 0 9.1
H o~ o

3x5dp (Three sides)

38

9.1

—— S |
N of ] [edeTH—
e AN 7N ©o| S -
g D, D. || « =R NE
@ @ o] W
© 2045 2045 -
i : ‘ " Through hole  Through hole
‘ 2-M5x0.8P —[ J*
@ Port connection L
i ‘ 25 3x3dp (Three sides)
o2 | _n
29
@35
@42

2-M4x0.7Px8dp

6-12.29

RTM

RMEF

RTB

RTBM

RTZB

RTP

RTH

RTU



RMF series Rotary Table

Dimensions

CHELIC.

©C RMF 20

8-M4x0.7Px8dp

2-05.5 Through hole

|

3
41
50

2-M5x0.8Px10dp

Q
)
[}

o

2
25

215
4.5

485

30.5
19.5

L

6.1

11.2

19.5

N

4x6dp (Three sides)

6.5

2-¢55  2-955

3.4

Through hole

2-M5x0.8P

96

Port connection

2-M5x0.8Px10dp

6-12.30

Through hole

12.5

<

1%

—

T

Ha

4x4dp (Three sides)

<—>‘



RMF series Rotary Table

Dimensions CHELIC.

©C RMF 30

8-M5x0.8Px8dp 2-06.6 Through hole

45
56

W
P

i i 2-M6x1.0Px12dp

! ! RTM

25
45
56
RME
253.5
252
@30 RTB
6 P 19
N ™
L 4x6dp (Three sides)
L ﬁ RTBM
) \ | 2
© |
- ==
o o ﬁL @D { RTZB
- © = ©
% o g o 1=L /;\ /;\ 2
L >\i/ o S !
o - RTP
‘e 2-26.5 2-965
s Through hole Through hole |
2-M5x0.8P
M [ [[]]| Port connection L[] [T 1] RTH
- | /
- ~
28| 4x4dp (Three sides) RTU
216 43
43
251
353.5

i i 2-M6x1.0Px12dp

45
56

6-12.31



RMF series Rotary Table

Dimensions CHELIC.

©C RMF 40

8-M6x1.0Px9dp 2.38.5 Through hole

D )
/e
Pt SR
0 v /AN D) 0| ® N
\N Avd \VX% i Sl
el - - \, ;
o e &
B TR,
. D
% Ul
% tj tj 2-M8x1.25Px15dp
28
58
72
@70
@68
@35
8 ~ < 13
(5]
< _©4x4dp (Three sides)
o With chamfer C0.2
w
()
o E ey 2
Q & 0
< <
< 3
N & % 2085 A -
~ 2-28.5 Through hole
© Through hole
0 ___ M5x0.8P
< || [ | Port connection || 1] [ |
il 11 [ M [N [
e -
210 4x4dp (Three sides)
@25 ) 55 |
53
64
@70

2-M8x1.25Px15dp

58
72

6-12.32



RMF series Rotary Table

Dimensions

CHELIC.

© RMF 50

95.5

8-M8x1.25Px13dp 2-@10.5 Through hole

e

/

o M on

@70

®
%

=

&
)

&L

e
76
92

4

2-M10x1.5Px20dp

N
o
~

31

@5x5dp (Three sides)

54.4

334

With chamfer C0.2

20.4

@ 6 3

16.5] 16.4]

(>\ 2-911

1

Through hole

8

2-PT1/8

2011 Through hole
©;0 J T8
[ 1 1] [Portconnection

=

19.5

3

2-M10x1.5Px20dp

76
92

6-12.33

Rl

—

@5x5dp (Three sides)

66
78.4

RTM

RMEF

RTB

RTBM

RTZB

RTP

RTH

RTU



RMF series Rotary Table

Sensor switch operating range and the setting CHELIC.
© Sensor switch adjustment on rotary cylinder
© Method of adjustment :
@ 1. Loosen the Fixed screw of the holder @ to allow sliding both sides.
© 2. Insert the sensor switch (S) into Holder (M) to flush with bottom,and
then tighten the fixed screw (K) .
© 3. Adjust the Holder (M) to desired angle,and then tighten the
Fixed screw of the holder ® .
Fixed screw of the holder ®
Holder @
Sensor switch ®
Fixed screw K
© Sensor switch introduction
CS-8G CS-8GN(P)
Brown(+) Brown (+)
35— == Bue () % — E== Black
/’ / Blue (-)
Voltage: DC 5V ~ 30V Voltage: DC 4.5V ~ 28V

AC 5V ~ 30V

6-12.34





